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(A) Pure water

Pure water

¥, =0MPa
w, =0 MPa
Py = ¥t ¥

=0 MPa
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(C) Flaccid cell dropped into sucrose solution

Flaccid cell\x
¥p =0 MPa
. =-0.732 MPa

y,, =-0.732 MPa

Cell after equilibrium\

y,, = -0.244 MPa
. = -0.732 MPa
¥, =¥, - ¥;=0.488 MPa
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B) Solution containing 0.1 M sucrose

;{ 0.1 M Sucrase solution

¥, =0 MPa

¥, =-0.244 MPa

V= Py + ¥
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- -0.244 MPa
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(D) Concentration of sucrose increased
Turgid cell

¥, = 0.488 P
¥, =-0.732 MPa
¥, = 0,244 MPa

|
0.3 M Sucrose
Cell aﬂerequilibrium\ / solution
¥, = 0.732 MPa U ¥, =0 MPa

¥, =-0.732 MPa ¥, =-0.732 MPa
¥, =¥~ ;=0 MPa ¥, = 0.732 MPa
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